B 7MPa F§ J&RIEEL (HC1-X %) ¢40 ~ ¢100

TP SRARGLI HC- 33 X3 RBIIK 5 PRI A= AL, HC1-X % &5,

@ H5m

Lo SRR AR AL A BIHA L, AT UM 24 K 222 5

2. HITMEL T P 2l R BE R HT BN L, R ZEAT S, D
BEEPE -

3. WEIEATRMI T WAL Y TR s B .

© AR P AN AT 5 R S HO- 0K X3 Il

© AT s KPR AE 1600mm,

@ Hi% @ NIZHRIFE
oK H & MPa s & 100 LLF 100 ~ 250 250 ~ 630 630 ~ 1, 000 1,000 ~ 1, 600
& sk M 0. 3MPa LAK e U +0.8 +1.0 +1.25 + 1.4 + 1.6
INZE & 7w
BNSWED Febim | 0.awPa L F 0 0 0 0 0

s Hl 8 ~ 300mm/s
s Hl -15 ~ 80 C

@ TSI HC 1-X 35-3 X 35~ (3) (%)

RE &L

BAEREH 1: TMPa
S
E i Ren BRE S
M 4 (HES) # A T TE
fiE B: SEEAFMESE s
—A C: EIKMEE i
D: FMEE R
HRE
iz
REMHR
F: BAR )
REONE CB: WK
LB: RIEER:
FB: HIkMIE=3
() 1 iR 22 5 ) J 22 p (0 8 i) o T DL AT FR240 FA. FERFTRE
2. WORFIT. ZEn AR OL | FTIT SR 1 0 ) R o
R LR x;;giﬁgﬁ
BREOME (BREE
J: £ (FRiE) A B

C —

BT g
EXCTIC

=+

B: T c: &
s ke - X .
@ BIREIHEFERENKSBHES GEiRE
i G AR % FEARTHIAR =R WL A0S ket
m cn?® mm e’ e’ 2MPa 3. 5MPa 5MPa TMPa
g ko 12.6 252 441 630 882
40 12.6 20 3.1 -
W OZE R 9.5 190 333 475 665
S ] 19.6 392 686 980 1372
50 19.6 25 4.9 -
whoZE AT 14.7 294 515 735 1029
S ] 31.2 624 1092 1560 2184
63 31.2 31.5 7.8 -
whoZE AT 23. 4 468 819 1170 1638
ik 50. 3 1006 1761 2515 3521
80 50. 3 40 12.6 -
g€ AT 37.7 754 1320 1885 2639
ik 78.5 1570 2748 3925 5495
100 78.5 50 19.6 -
g€ AT 58.9 1178 2062 2945 4123

255



® EA&NX

[

.

WinEE® G

HSig4 7

n Wl
y vl - Y
4 il -
ﬁfﬁ% u v
2 T T
1 — —_ ..
1 A R R N
1 = M
[Tl T Bhi
M S+ g N |0
X+ g
Jiat (kg)
a1 40 50 63 80 | 100
ot 3 5 14 21
10mm 0.1 [ 015 | 02 | 0.25 | 0.4

® CB(#HN)

©® LB(RIEER)

HC1-M&E-9LR

HC1-AM#&-9LH

HO1-E-90 LNy R/
| /s /J ‘
I D o o s N4 A1 T S nnr
| ™/ i
] : gy 1 : e
— - —-— —] =
[RAN !
_D_uiR JlF i
N ¢ K | E+imi2
X+
@ FB(EILME=R) ® FACEEMIE=)
HC1-AZ-9F HC1-PI%&-9F
] ﬂ+ - 1 .
‘ i o % ‘ e
1@ @ - = H O T el B
c 4-$U F c 4-#U E F
A X+ iz " e
©® TC( HEEH) ©® TACEEMEHHN )
HC1-RE-9TC HC1-HZE-9TA
_‘ | s oz ::::'__Z_!— T—‘ @) & i il ,
|
m \y o | T R A B |
\é &j == o of =
L E+ 4 iz 2 Lo . 0
g Xt * Xt

256




BiR EHYRER
s - ® ZUS A
En _',l;_’_;;_ HCT = J 3% = 3% X 3% -3 356
mAaas Bk T
'\ HhHLE
T il —t
|
ﬁ G VA N BURE R BN, SR, Ak,
- - TAFERF R, A .
St/4+KL (St=<500)
St/5+KL (St>500)
CHA7: mm)
MAE MAE
40 50 63 80 100 40 50 63 80 100
LN T 4
RN AN,
A 60 75 90 114 130 H 10 12 14 14 16
B 44 55 65 84 100 By 10 11 13 15 17
C 11 16 18.5 22 30 K 33 38 40 43 53
D 25 30 35 40 55 R 9 11 13 15 17
E | MI6X 1.5 | M20 X 1.5 | M24 X 2 M30 X 2 M42 X 3 X 222 253 294 330 366
’ 3 3 4 4 6 A 95 117 142 175 195
F 20 25 31.5 40 50 B 60 75 90 114 130
G 17 21 24 32 41 | C 77 97 116 145 165
d(h7) 20 24 30 38 48 D 44 55 65 84 100
H(h9) 40 50 60 70 80 F 10 12 14 16 18
Ry [ Mex 125 | MIOX 1.5 [ MI2X 1.75 | M4 X 2 M6 X 2 E T 40 50 60 70 80
K 24 26 28 29 31 u 9 11 13 15 17
L 22 26 28 30 33 X 194 222 258 291 319
Ay 33 38 45 48 50 A 95 117 142 175 195
N 26 28 32 40 40 B 60 75 90 114 130
FY Rel/, Re?/g Rel/, Re?/, Re?/, o c 77 97 116 145 165
Q 16 19 22 23 26 D 44 55 65 84 100
S 54 62 76 88 92 E 61 70 77 83 101
T 13 14 16 20 20 PO 10 12 14 16 18
v 36 46 52 67 75 H 40 50 60 70 80
W 37 45 52 68 76 u 9 11 13 15 17
X 200 229 266 298 327 X 206 236 274 305 335
R 9 10 10 14 14 A 109 135 160 180 225
u 12 13 15 19 19 B 67 81 94 116 141
Y | M8X1.25 | M8X 1.25 | M8 X 1.25 |MIZX 1.75 | MI2 X 1.75  1¢c | C 69 85 98 118 145
z M6 X 1 M6 X 1 M6 X 1 M6 X 1 M6 X 1 D 30 38 44 48 58
A 20 28 32 38 50 E 131 151 174 191 215
B 60 75 90 114 130 E 2 2.5 2.5 2.5 3
| ¢ 38 42 50 60 75 u(e8) 20 25 31.5 31.5 40
D 12 14 16 18 20 X 196 224 260 293 321
E 23 25 30 35 45 A 109 135 160 180 225
E 20 22 25 30 40 B 60 75 90 114 130
u(H9) 16 18 20 25 35 Tw| ¢ 69 85 98 118 145
X 242 274 319 365 416 D 22 28 34 34 44
A 80 97.5 115 142 160 £ 60 68 74 82 97
B 60 75 90 114 130 K] R 2 2.5 2.5 2.5 3
LB 50 60 70 85 95 u(es) 20 25 31.5 31.5 40
D 44 55 65 84 100 X 196 224 260 293 321
x| F 179 204 241 272 296 Bidx| W 70 80 90 100 110
F 38 44 51 56 66 2 KL 65 72 74 81 83
G 28 32 37 40 48

257



